12”0552 (K12n0552)

Linearized knot diagam

EENENEENEEEER

3 7 8 11 1 12 2 5 12 5 7 9

Solving Sequence

2’8—>7—>34>4’114>5*>94>12*>1—>64>10%}657097012
¢t C2 (3 €4 C8 C11 C1  Cs C10

A knot diagrarrﬂ

Ideals for irreducible component#ﬂ)f Xpar

I = (5u® +56u'® + - +4b — 116, 9u®® + 75u'® + - - - 4+ 16a + 72, v + 11u*° + - - - — 80u — 16)
=(—u®+u®+ - 4b+5 —3u®—9u®+. .. 42 —4, "+ u! .. +2u42)

* 2 irreducible components of dim¢ = 0, with total 38 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I I* = (5u?® + 56u'® + --. 4+ 4b — 116, 9u?° + 75u'® + ... + 16a + 72, u?' +
11420 + ... — 80u — 16)

(i) Arc colorings

o ()

1
ag = 0

1
a7 = u2

u

az = \ud+u

—u3
as = \yd+u

—0.562500u2° — 4.68750u'® + - - - — 16.7500u — 4.50000
an = —3020 — 1401 + - 4 2y + 29

%u20+%u19+“~—%5u2—%u
as = \ —2u® — Lul% 4. +29u+7

Su0 4 3ut o 189y 4 2

ag = %u20+1—§1u19+-~— 2;5,“734

—0.562500u2° — 4.43750u'? + - - - — 7.25000u + 0.500000
ayz = —Tu?0 — 3919 4 ...y By 4 33

u3

a1 = \uWW+ud+u

éj%uQOJr g’—éu39+~ 634 — 8
ag = \qu + 82y 4 ... — 42y — 11

11,20 _ 85,19 213
aro = \ —2u® —27u' + -+ + 225u + 55
(ii) Obstruction class = —1

(iii) Cusp Shapes = 24?0 + 225,19 4 1289418 4 959417 4 1490516 4 34975,,15
67375u14 + 54537u13 + 1%1085u12 + 181727u11 + 191943u10 + 17903 u9 + 73543u8 +

2 2 2 2
52381u" 4 31237u’ + 2877045 + 3949u* — 589u® — 1353u? — 726u — 166




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

€1 u?t + 9u? + ... 4+ 896u — 256

Co,C7 w116 + - — 80u — 16
€3 ' — 110 + - — 8656u — 2512

C4,C6, C10 u21+27u19+._.+u_1
C11
cs,C8 w + 2020 42807 — 1
Cg,C12 wl +4u - —Bu—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

1 Y 4 5y%0 4 ...+ 2367488y — 65536

Ca, C7 v+ 9920 + ... 4 896y — 256
€3 y*t —107y%° 4 - .- — 395058816y — 6310144

C4,C6,C10 y21+54y20_~_._._9y_1
C11
Cs, C8 y?t — 46920 + - + 56y — 1
€9, C12 v 2y o —y—1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.472469 + 0.8281551
= —0.488123 — 0.1662771
0.188036 + 0.2221301

0.20225 + 1.980031

2.28798 — 3.261741

0.472469 — 0.8281551
—0.488123 + 0.1662771
0.188036 — 0.2221301

0.20225 — 1.980031

2.28798 + 3.261741

—0.771804 + 0.7196031
—1.319550 — 0.2505481
0.47482 + 1.816391

3.69054 + 0.944131

3.84004 + 4.580611

—0.771804 — 0.7196031
—1.319550 + 0.2505481
0.47482 — 1.816391

3.69054 — 0.944131

3.84004 — 4.580611

= 0.036593 + 0.9367171
0.078038 — 0.9086141
—0.472625 + 0.3886441

—1.84690 + 1.456851

—2.25321 — 5.174501

0.036593 — 0.9367171
= 0.078038 + 0.9086141
—0.472625 — 0.3886441

—1.84690 — 1.456851

—2.25321 4 5.174501

—0.710005 + 0.9886271
1.54173 + 0.942971
—0.24228 — 2.121261

2.87016 — 6.565101

—1.92301 + 3.765981

—0.710005 — 0.9886271
1.54173 — 0.942971
—0.24228 + 2.121261

2.87016 4 6.565101

—1.92301 — 3.765981

—0.769484 + 0.0510111
= —0.141173 4+ 0.1036191
= —0.347832 + 0.4541021

—2.61653 + 1.284991

0.15587 — 3.079611

—0.769484 — 0.0510117
= —0.141173 — 0.1036191
= —0.347832 — 0.4541021

>~ Q@ €|l & €| & €| Q& €| & €| & €| & &> & 8| & 8| & &

—2.61653 — 1.284991

0.15587 + 3.079611




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u = —0.435565 + 1.1957801
a = —0.004901 — 0.6895081
b= —0.468235 + 0.4702761

—6.21856 — 2.948971

—0.504582 + 0.0494161

u = —0.435565 — 1.1957801
a = —0.004901 + 0.6895081
b= —0.468235 — 0.4702761

—6.21856 + 2.948971

—0.504582 — 0.0494161

u = —0.472104 + 1.1991301
a= 0.644752 + 0.1450481
b= —0.345148 — 0.5508371

—5.96069 — 5.818491

—5.01229 + 8.572701

u = —0.472104 — 1.1991301
a= 0.644752 — 0.1450481
b = —0.345148 + 0.5508371

—5.96069 + 5.818491

—5.01229 — 8.572701

u = —1.49061 + 0.037281
a= 0.034735+ 0.7141461
b= 0.00483 — 2.166771

—15.8145 — 3.82681

1.96641 + 1.960961

u = —1.49061 — 0.037281
a= 0.034735 —0.7141461
b= 0.00483 + 2.166771

—15.8145 + 3.82681

1.96641 — 1.960961

u= 0423148

a = —1.20478 0.913214 11.0410

b= 0.358221

u = —0.76209 + 1.500161

a= 1.21983 4 1.446131 19.0348 — 11.63071 0.+ 4.724021
b= —0.15370 — 2.090191

u = —0.76209 — 1.500161

a= 1.21983 —1.446131 19.0348 + 11.63071 0. —4.724021

b= —0.15370 + 2.090191

u = —0.80898 + 1.481551
a=—1.21294 — 1.394861
b= 0.18302 + 2.080761

19.3623 — 4.12471




U
a
b

Solutions to I} v—1(vol + v/—1CS) | Cusp shape
= —0.80898 — 1.481551
= —1.21294 + 1.394861 19.3623 + 4.12471 0

0.18302 — 2.080761




II.
I = (—u'%+u'®+- .-+ b+5, —3u®—9u'S5+...+2a—4, u'"+ulb+.. .4 2u+2)

(i) Arc colorings

o ()

1
ag = 0
1
a7: u2
u
az = \ud+u
3
as = \yd+u
Sul® 4 Jutd+ .+ By 42
ail = b —y® ... —8u—5
_%ulﬁ_%uliﬁ_,'_.“_*_%u_l
as = uP +ult o 2041
%u16+%u15+ ~-+22—1u+8
ag = wb —uld ... —4du—5
%u16+17253u15_|_“ +221u+3
a2 =\ 3y — 5+ ... —12u—7
ud
a1 = \wS+ud+u
_%ulﬁ 5u15+--~—%u—1
ag = u® + 20+ 4 3u+1

5ul6 4 9u'® 4 - - 4 20u + 6
a10 = \ g% —3u!® +... —13u—10

(ii) Obstruction class =1

(iii) Cusp Shapes = u!6 — 2u!® — 3u!* — 13u!? — 16u'? — 34ut — 48u!0 — 74v° —
85u® — 100u” — 105u8 — 105u® — 96u* — 75u> — 56u> — 30u — 16



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! ut —ut® 4 —32u 44
C2 wlT — w4 2u -2
s u Futt e bu— 2
C4,C11 T T |
Cs,C8 w— w4 2ut1
C6, C10 R T
7 uT w20 2
9 w T T e Bu 41
C12 w7+ Bu—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
gl YT+ 5y + - — 8y — 16
c2,C7 YT 9yt0 32y — 4
c3 y17+y16+_24y_4
C4,C6,C10 y17+5y16++9y_1
C11
C5,C8 y' =3y —6y—1
€9, C12 y Ty y -1
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Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

0.281134 + 0.9464561
a= 124113 — 1.456231
0.36623 + 1.546731

0.52851 — 1.834621

0.29796 + 3.588471

u= 0.281134 — 0.9464561

a 1.24113 + 1.456231 0.52851 + 1.834621 0.29796 — 3.588471
b= 0.36623 — 1.546731

u = —0.969290

a= 0.776451 —1.53916 3.39910

b= —0.382171

uw=0.728050 + 0.7668861
a= 1.70484 — 0.428001
b = —0.50880 + 2.226931

3.93432 — 1.405611

11.9334 + 8.16121

uw=0.728050 — 0.7668861
1.70484 + 0.428001
b= —0.50880 — 2.226931

3.93432 4 1.405611

11.9334 — 8.16121

uw=0.224277 4 0.8587631
a = —1.56206 + 0.826311
b= 0.127397 — 1.3493401

0.93314 4 4.064401

0.37552 — 3.757291

uw= 0.224277 — 0.8587631
a = —1.56206 — 0.826311
b= 0.127397 + 1.3493401

0.93314 — 4.064401

0.37552 4 3.757291

u = —0.737443 + 0.8429811
a= 1.105660 — 0.2507311
b= —0.533874 + 0.3838441

—3.11346 — 2.816751

2.33737 4 2.857011

u = —0.737443 — 0.8429811
a= 1.105660 + 0.2507311
b= —0.533874 — 0.3838441

—3.11346 + 2.816751

2.33737 — 2.857011

u = —0.382757 4+ 1.0997701
a = —0.682974 — 0.5151431
b= 0.561927 + 0.0463211

—7.10806 — 3.640021

—7.66149 + 4.404891
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= —0.382757 — 1.0997701
= —0.682974 + 0.5151431
0.561927 — 0.0463211

—7.10806 + 3.640021

—7.66149 — 4.404891

0.676951 + 0.9647591
= —1.78717 4+ 1.204721
0.10658 — 2.494431

3.30875 + 6.791141

13.3760 — 11.71731

= 0.676951 — 0.9647591
= —1.78717 — 1.204721
0.10658 + 2.494431

3.30875 — 6.791141

13.3760 + 11.71731

—0.306582 + 0.6777001
—1.79619 + 0.124081
0.674089 — 0.6111261

—5.45769 + 0.673041

—4.27931 — 3.127641

—0.306582 — 0.6777001
= —1.79619 — 0.124081
0.674089 + 0.6111261

—5.45769 — 0.673041

—4.27931 + 3.127641

—0.498985 + 1.2606401
0.388541 — 0.4085651
—0.102456 + 0.3766001

—5.41541 — 5.165671

1.42099 + 1.442251

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b

—0.498985 — 1.2606401
0.388541 + 0.4085651
—0.102456 — 0.3766001

—5.41541 + 5.165671

1.42099 — 1.442251
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
c1 (u'” — 9u® - — 32u + 4) (u?! 4+ 9u® + - - + 896u — 256)
c2 (W —ut + o 2u = 2) (W + 116 + - — 80u — 16)
c3 (w4 u'® 4 4 6u — 2)(u? — 110”0 + -+ — 8656u — 2512)
€4, €11 (W w4 —u— D)W 27 o u—1)
Cs5,C8 (' — w4 2u+ 1) (W 4 2020 4 4280 — 1)
€6, C10 (W — w4 — w4 D) 27 o u—1)
7 (W + w4 2u+ 2) (w4 114 + - — 80u — 16)
9 (™ 4+ 7ul® -+ 5w+ 1) (u? + 40 4 — Bu — 1)
c12 (= 7ul® - 5w — 1) (u? + 40 4 - — Bu — 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing

€1 (y'" +5y1% 4+ - — 8y — 16)(y*' + 5y* + - - + 2367488y — 65536)
Ca, Cr (Y7 + 9yt 4+ - — 32y — 4) (! + 9y%° + - - + 896y — 256)

cs (YT + "0+ =24y — 4)

(y*t = 107y%° + - - — 395058816y — 6310144)
€4, C6, C10 (y” + 5y16 Oy — 1)(y21 +54y20 +o—9y—1)
C11

Cs, C8 (7 =3yt - — 6y — 1)y — 46570 + - + 56y — 1)
C9,C12 (y17+y16+"'+y*1)(y21+2y20+~~-—y—1)
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